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e HRGEH)E s HGEH)E s HGH)E
BEMEO(FE B EEREN 8,000,000 8,000,000
ERBEER 650,000 SEARY LSS ICEE A B EEREAND
FEMBQ(EEBREERE) 7,350,000 8,000,000
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HEIRA 7,017,000 [(ERRE 10%+EAEFEL18%) —2=14%]
HE5mEER 1,902,000
e apikei 0 5,115,000
[FrEERR]
ELREPERR 380,000 380,000
EREE 199,200 16,600 X 12/ B
#HREEESR) 631,530 =H4% x 9%
EREERAK 630,000 ERERRRGEH#CHE, TICURLSE
HREEERE- N EE) 350,850 =#&% x 5%
INEE 1,209,200 1,362,380
=5|FE () 6,140,800 800,660 3,752,620 323,024 | -2,388,180 —477,636
FER#H 614,080 375,262 =FFE X 10%
EAMERT 71,000 EHE 21,000 KE¥50,000M
BAEER 255,000 = (BZMBDO—2905H) x 5%
HEsEt 1,669,740 769,286 -900,454
HRXZILEE 829,200 1,964,760 1,135,560 |=ft S RIEFHERR x 2
Z3| 235,106( R A+ R[FF ¥y 70 —RELE
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